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Simple Multiplication Word Problems  
Answers 

 
a) There are 5 carrots in a bag. I have 3 bags of carrots. How many 

carrots do I have in total? 
5 x 3 = 15 
I have 15 carrots in total. 
 

b) A bicycle has 2 wheels. There are 9 bicycles. How many wheels 
are there in total? 
2 x 9 = 18 
There are 18 wheels in total. 
 

c) There are 10 students in each class. There are 6 classes. How 
many students are there in total? 
10 x 6 = 60 
There are 60 students in total. 
 

d) A steak costs $11. I buy 5 steaks. How much money have I 
spent? 
11 x 5 = 55 
I have spent $55. 
 

e) There are 3 dogs. How many legs are there in total? 
Each dog has 4 legs. 
4 x 3 = 12 
There are 12 legs in total. 

f) I draw 8 triangles. How many sides have I drawn altogether? 
Each triangle has 3 sides. 
3 x 8 = 24 
I have drawn 24 sides altogether. 
 


